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Solved Examples

1. Using tally marks which one of the following the represents

number five?

A IIITT
B. LHTI
C. ILHI


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UWwFMQBPEr4T

D. IHT

Answer: D

o Watch Video Solution

2. State whether the following statements are true or false:
A tabular form of data is also a pictorial representation of the
data.

A.True

B. False

C. Cannot determine

D. None

Answer: B

| o Wabkll. \tdaa ol aa



https://dl.doubtnut.com/l/_UWwFMQBPEr4T
https://dl.doubtnut.com/l/_IrT2aKyVyHeO
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3. State whether the following statements are true or false:
A pictograph represents data in the form of pictures of objects

or parts of objects.

o Watch Video Solution

4.The blood groups of 25 students are recorded as under:
A/B,O,A AB,O,A O,B,A O,B,A AB, AB, A A, B, B,
O, B, AB, O, A, B.

Arrange the information in a table using tally marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_IrT2aKyVyHeO
https://dl.doubtnut.com/l/_mPbZEVdDQ63A
https://dl.doubtnut.com/l/_qnZsZpUBhXy6

5.In a school, there are five sections of Class VI. The number of

students in each section is given below:

Section A I L D E
Number of 40 44 42 36 a2

students

Represent the above data using a bar graph.

o Watch Video Solution

6. The number of vistors in a science exhibition on different days
of a week is shown below:
Look at the above pictograph and answer the following

questions:


https://dl.doubtnut.com/l/_aZQ7n3eMp0Zc
https://dl.doubtnut.com/l/_eAIgnAUeUH6y
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What is the total number of visitors from Monday to Saturday?

A. 4300

B. 5300

C.6300

D. 7300

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_eAIgnAUeUH6y

7.The number of vistors in a science exhibition on different days
of a week is shown below:

Look at the above pictograph and answer the following

questions:
Day Number of Visitors {= 100 villtnrll
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On which day was the number of visitors maximum? What was

their total number?

.9


https://dl.doubtnut.com/l/_eAIgnAUeUH6y
https://dl.doubtnut.com/l/_gFUkdfpGTOAb

| ¥ Watch Video Solution

8. The number of vistors in a science exhibition on different days

of a week is shown below:

Look at the above pictograph and answer the following

questions:

Day Number of Visitors i= 100 \rilltnrll
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On which day was the number of visitors minimum?

o Watch Video Solution



https://dl.doubtnut.com/l/_gFUkdfpGTOAb
https://dl.doubtnut.com/l/_KFUvVK5M2iw7

9. The number of vistors in a science exhibition on different days
of a week is shown below:

Look at the above pictograph and answer the following

questions:
Day Number of Visitors f: 100 ﬁ.“ur_l
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On which day was the number of visitors same as the number of

visitors on two days taken together?

o Watch Video Solution



https://dl.doubtnut.com/l/_KFUvVK5M2iw7
https://dl.doubtnut.com/l/_xHPdjJuYnnC8

Exercise Write The Correct Answer

1. Using tally marks, which one of the following represents the

number eight:

@

B. LIT_LIT
C. JEHTII
D. IHTIIIT

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xHPdjJuYnnC8
https://dl.doubtnut.com/l/_aZwEeiu2LeJS

2. The marks (out of 10) obtained by 28 students in a
Mathematics test are listed as below:
81,2,6,5,550,1,9,7,8,0,5,8, 3,0, 8, 10, 10, 3,4, 8,7, 8,9, 2,0
The number of students who obtained marks more than or equal

to5is

A 13

C.16

D.17

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1ygQJZ4LzCsU

3.1n question 2 above, the number of students who scored marks

less than 4 is

A 15

B.13

C.12

D.10

Answer:

O Watch Video Solution

4. The choices of the fruits of 42 students in a class are as
follows:
A O,B,M,AG,B,G,A,QG,

B,M,A G, M, A, B,G, M, B,


https://dl.doubtnut.com/l/_uw12ySmzg1ZI
https://dl.doubtnut.com/l/_PbT3IhnDGHE1

A7 O? M? 07 G7 B’ 07 M? G7 A7
A)‘B’M’O’M’G?B)A?M’O)M)O)
Where A, B, G, M and O stand for the fruits Apple, Banana, Grapes,
Mango and Orange respectively.
Which two fruits are liked by an equal number of students?
A.Aand M
B.M and B

C.Band O

D.Band G

Answer: D

o Watch Video Solution

5. According to data, which fruit is liked by most of the students?

The choices of the fruits of 42 students in a class are as follows:


https://dl.doubtnut.com/l/_PbT3IhnDGHE1
https://dl.doubtnut.com/l/_poZseg7zBZHd

A,0,B,M,A,G,B,G,A,G,
B,M,A,G,M,A,B,G, M, B,
A,0,M,0,G,B,0,M,G, A,
A7B7M’O’M7 G"B?A’M?O)M? 07
Where A, B, G, M and O stand for the fruits Apple, Banana, Grapes,
Mango and Orange respectively.
A.O
B.G

M

D.A

Answer: C

° Watch Video Solution

Exercise True T Or False F



https://dl.doubtnut.com/l/_poZseg7zBZHd

1. State True or False

In a bar graph, the width of bars may be unequal.

o Watch Video Solution

2. State True or False

In a bar graph, bars of uniform width are drawn vertically only.

o Watch Video Solution

3. State True or False
In a bar graph, the gap between two consecutive bars may not be

the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_FTXf4P7OyrHK
https://dl.doubtnut.com/l/_pPHs95W8WJkw
https://dl.doubtnut.com/l/_6pOEUbFo0vYa
https://dl.doubtnut.com/l/_KjhrtBTKnVsc

4, State True or False
In a bar graph, each bar (rectangle) represents only one value of

the numerical data.

° Watch Video Solution

5. State True or False
To represent the population of different towns using bar graph,

it is convenient to take one unit length to represent one person.

o Watch Video Solution

6. State True or False:
Pictographs and bar graphs are pictorial representations of the

numerical data.

o Watch Video Solution



https://dl.doubtnut.com/l/_KjhrtBTKnVsc
https://dl.doubtnut.com/l/_bDWfRWB7grXv
https://dl.doubtnut.com/l/_N13oSZkzVeW3

7.State True or False:
An observation occurring five times in a data is recorded as | | | | |,

using tally marks.

° Watch Video Solution

Exercise Fill In The Blanks To Make The Statements True

1.In a pictograph, if a symbol & represents 50 books in a library

shelf, then the symbol < represents how many books?

° Watch Video Solution

Exercise Fill In The Blanks


https://dl.doubtnut.com/l/_N13oSZkzVeW3
https://dl.doubtnut.com/l/_PGZNW19R94Sf
https://dl.doubtnut.com/l/_dUfdrkRvAIXp
https://dl.doubtnut.com/l/_XMVzlSr3cOO1

1A is a collection of numbers gathered to give some

meaningful information.

o Watch Video Solution

2. The data can be arranged in a tabular form using marks.

o Watch Video Solution

3.A represents data through pictures of objects.

o Watch Video Solution

4.In a bar graph,  can be drawn horizontally or vertically.

o Watch Video Solution



https://dl.doubtnut.com/l/_XMVzlSr3cOO1
https://dl.doubtnut.com/l/_hYkb51In9Ewz
https://dl.doubtnut.com/l/_cuyZxDEUpmNG
https://dl.doubtnut.com/l/_qoCvr0A5orUK

5.1n a bar graph, bars of width can be drawn horizontally

or verticallywith _ spacing between them.

o Watch Video Solution

6. An observation occurring seven times in a data is represented

as using tally marks.

o Watch Video Solution

7. In a pictograph, if a symbol * represents 20 flowers in a

basket then * * *

stands for flowers.

o Watch Video Solution



https://dl.doubtnut.com/l/_CRGKuQSd8uC6
https://dl.doubtnut.com/l/_hPGpKfTbcJmS
https://dl.doubtnut.com/l/_TNzCvZ8nnKQL

8. On the scale of 1 unit length = 10 crore, the bar of length 6

units will represent crore and of units will represent

75 crore .

o Watch Video Solution

1. In an examination, the grades achieved by 30 students of a

class are given below. Arrange these grades in a table using tally
marks:
B,C,C EACGCB,B,DD,DD,B,CCCACB,E,ADCB,ECB,E,

G D

o Watch Video Solution



https://dl.doubtnut.com/l/_oH10kNdN6F1r
https://dl.doubtnut.com/l/_cTHuhjxDITPL
https://dl.doubtnut.com/l/_w24JTROo1upc

2. The number of two wheelers owned individually by each of 50
families are listed below. Make a table using tally marks.
,1,2,1,1,1,2,1,2,1,0,1,1,2,3,1,2,1,1,2,1, 2,3,
,021,0,2,1,2,1,2,1,1,4,1,3,1,1,2,1,1,1,1,

2,3,2,1,1

Find the number of families having two or more, two wheelers.

o Watch Video Solution

3. The lengths in centimetres (to the nearest centimetre) of 30
carrots are given as follows:

15, 22, 21, 20, 22,15, 15, 20, 20,15, 20, 18, 20, 22, 21,

20, 21,18, 21,18, 20, 18, 21,18, 22, 20,

15, 21,18, 20

Arrange the data given above in a table using tally marks and

answer the following questions.


https://dl.doubtnut.com/l/_w24JTROo1upc
https://dl.doubtnut.com/l/_5CAnR7fdQgdy

What is the number of carrots which have length more than 20

cm?

o Watch Video Solution

4. The lengths in centimetres (to the nearest centimetre) of 30
carrots are given as follows:

15, 22, 21, 20, 22,15, 15, 20, 20,15, 20, 18, 20, 22, 21,

20, 21,18, 21, 18, 20, 18, 21, 18, 22, 20,

15, 21,18, 20

Arrange the data given above in a table using tally marks and
answer the following questions.

Which length of the carrots occur maximum number of times?

Minimum number of times?

o Watch Video Solution



https://dl.doubtnut.com/l/_5CAnR7fdQgdy
https://dl.doubtnut.com/l/_RGS7IdGUYxCW
https://dl.doubtnut.com/l/_st0h0EkxxQqM

5. Thirty students were interviewed to find out what they want to
be in future. Their responses are listed as below:

doctor, engineer, doctor, pilot, officer, doctor, engineer, doctor,
pilot, officer, pilot, engineer, officer, pilot, doctor, engineer, pilot,
officer, doctor, officer, doctor, pilot, engineer, doctor, pilot, officer,
doctor, pilot, doctor, engineer

Arrange the data in a table using tally marks.

o Watch Video Solution

6. Following are the choices of games of 40 students of Class VI:
football, cricket, football, kho-kho, hockey, cricket, hockey, kho-kho,
tennis, tennis, cricket, football, football, hockey, kho-kho, football,
cricket, tennis, football, hockey, kho-kho, football, cricket, cricket,
football, hockey, kho-kho, tennis, football, hockey, cricket, football,
hockey, cricket, football, kho-kho, football, cricket, hockey, football.

Arrange the choices of games in a table using tally marks.


https://dl.doubtnut.com/l/_st0h0EkxxQqM
https://dl.doubtnut.com/l/_hs0rRvmINBGs

o Watch Video Solution

7.Following are the choices of games of 40 students of Class VI:
football, cricket, football, kho-kho, hockey, cricket, hockey, kho-kho,
tennis, tennis, cricket, football, football, hockey, kho-kho, football,
cricket, tennis, football, hockey, kho-kho, football, cricket, cricket,
football, hockey, kho-kho, tennis, football, hockey, cricket, football,
hockey, cricket, football, kho-kho, football, cricket, hockey, football.

Which game is liked by most of the students?

o Watch Video Solution

8. Following are the choices of games of 40 students of Class VI:
football, cricket, football, kho-kho, hockey, cricket, hockey, kho-kho,
tennis, tennis, cricket, football, football, hockey, kho-kho, football,

cricket, tennis, football, hockey, kho-kho, football, cricket, cricket,


https://dl.doubtnut.com/l/_hs0rRvmINBGs
https://dl.doubtnut.com/l/_SD0gPOHT0lHj
https://dl.doubtnut.com/l/_7h6KIZmH81Vq

football, hockey, kho-kho, tennis, football, hockey, cricket, football,
hockey, cricket, football, kho-kho, football, cricket, hockey, football.

Which game is liked by minimum number of students?

O Watch Video Solution

9. Fill in the blanks in the following table which represents shirt

size of 40 students of a school.

Shirt size Tally Marks Number of students
30 1 3
S M —
34 — 8
36 M 1 —
38 M — 10
A0 — 7

° Watch Video Solution



https://dl.doubtnut.com/l/_7h6KIZmH81Vq
https://dl.doubtnut.com/l/_PMKG6JttnY1k

10. Following pictograph represents some surnames of people

listed in the telephone directory of a city

']
Surname Number of people @_}7 = 10} people

[T

| 101800
. | BB

o | SOy
- | Wy

- | B30

Observe the pictograph and answer the following questions:

How many people have surname ‘Roy’?

o Watch Video Solution



https://dl.doubtnut.com/l/_E1L2ixmOVsfb

11. Following pictograph represents some surnames of people

listed in the telephone directory of a city

W

Surname Number of people \1 ]{ = 1{H} people

NV W W
o | L3I

BN RVAVAVAVAV
w | YUY

Salkia {I—Lff\wﬂj?j
Singh .\E\[w? QNU?? \S\r?

N N

Observe the pictograph and answer the following questions:
Which surname appears the maximum number of times in the

telephone directory?

o Watch Video Solution



https://dl.doubtnut.com/l/_AfJGlBZ3zJYe
https://dl.doubtnut.com/l/_mKyIxoOSbb56

12. Following pictograph represents some surnames of people

listed in the telephone directory of a city

| B
v | SOOIy
. | SO
o | SOy
| Wy

o | S0

Observe the pictograph and answer the following questions:

Which surname appears the least number of times in the

directory?

° Watch Video Solution



https://dl.doubtnut.com/l/_mKyIxoOSbb56

13. Following pictograph represents some surnames of people

listed in the telephone directory of a city

| HEHHE
SRR
. | SOy
- | Sy
o | B

— | S0y

Observe the pictograph and answer the following questions:

Which two surnames appear an equal number of times?

o Watch Video Solution



https://dl.doubtnut.com/l/_OI34KiWfJKqJ

14. Students of Class VI in a school were given a task to count the
number of articles made of different materials in the school. The

information collected by them is represented as follows:

Material used Articles HH = 20 articles
Wood - H

Glass i

Metal R

Rubber H-

Plastic B H

Observe the pictograph and answer the following questions:

Which material is used in maximum number of articles?

o Watch Video Solution

15. Students of Class VI in a school were given a task to count the
number of articles made of different materials in the school. The

information collected by them is represented as follows:


https://dl.doubtnut.com/l/_6Y615VC8lHsO
https://dl.doubtnut.com/l/_zWtTB9SrglTd

Material used | Articles FH = 20 aructes
Wood HH H

Glass B

Mtal A HH A

Rubber =

Plastic FH B

Observe the pictograph and answer the following questions:

Which material is used in minimum number of articles?

o Watch Video Solution

16. Students of Class VI in a school were given a task to count the
number of articles made of different materials in the school. The

information collected by them is represented as follows:

Material used | Articles FH = 20 arucles
Wood 1

CGlass B4

Metal HH HH H

Rubber HH

Plastic ==l



https://dl.doubtnut.com/l/_zWtTB9SrglTd
https://dl.doubtnut.com/l/_gSzWvMhz8eTT

Observe the pictograph and answer the following questions:
Which material is used in exactly half the number of articles as

those made up of metal?

O Watch Video Solution

17. Students of Class VI in a school were given a task to count the
number of articles made of different materials in the school. The

information collected by them is represented as follows:

Material used | Articles FH = 20 articles
Wouo -

Glass B

Meta S=lsEl=

Rubber oy

Plastic FH B

Observe the pictograph and answer the following questions:

What is the total number of articles counted by the students?

o Watch Video Solution



https://dl.doubtnut.com/l/_gSzWvMhz8eTT
https://dl.doubtnut.com/l/_tImXdtkNVGd1

18. The number of scouts in a school is depicted by the following

pictograph:

Class Number of scouts @ = 10 scouls

v ©OOO

w1 QO

w | QOOOOO
x| QOO

x ©

Observe the pictograph and answer the following questions:

Which class has the minimum number of scouts?

o Watch Video Solution

19. The number of scouts in a school is depicted by the following

pictograph:


https://dl.doubtnut.com/l/_tImXdtkNVGd1
https://dl.doubtnut.com/l/_PWgLTWMCt8tU
https://dl.doubtnut.com/l/_R3oGPflpOgl0

Class Number of scouts @ = 10 scouls

OO

w | QO

| QOO0
x| QOO

: ©

Observe the pictograph and answer the following questions:

Which class has the maximum number of scouts?

o Watch Video Solution

20. The number of scouts in a school is depicted by the following

pictograph:


https://dl.doubtnut.com/l/_R3oGPflpOgl0
https://dl.doubtnut.com/l/_mS11BcNJzINx

Class Number of scouts @ = 10 sconuls

" | ©000

" | @O

“ | 00000
« | @00

< |

Observe the pictograph and answer the following questions:

How many scouts are there in Class VI?

o Watch Video Solution

21. The number of scouts in a school is depicted by the following

pictograph:


https://dl.doubtnut.com/l/_mS11BcNJzINx
https://dl.doubtnut.com/l/_Pdb2eswSEEoy

Class Number of scouts @ = 10 scouls

OO

N O

w | QOOOLO
x| QOO

: ©

Observe the pictograph and answer the following questions:
(@) Which class has exactly four times the scouts as that of Class
X?

(b) What is the total number of scouts in the Classes VI to X?

o Watch Video Solution

22. A survey was carried out in a certain school to find out the
popular school subjects among students of Classes VI to VIII. The

data in this regard is displayed as pictograph given below:


https://dl.doubtnut.com/l/_Pdb2eswSEEoy
https://dl.doubtnut.com/l/_fYGUwmgYP0hL

Subject Number of Students @ = 50 students
Hindi @ @ @ @
IEnglish @ @ @

Mathematies @ @ @ %
Selence @ @

Soclal Stadies @ %

Which subject is most popular among the students?

o Watch Video Solution

23. A survey was carried out in a certain school to find out the
popular school subjects among students of Classes VI to VIII. The

data in this regard is displayed as pictograph given below:


https://dl.doubtnut.com/l/_fYGUwmgYP0hL
https://dl.doubtnut.com/l/_fqCMTQrgGPLh

Subject Number of Students @ = 5 students
Hindi @ @3 @ @
linglish @ @ @

Mathematics @ @ @ %
Sclence @ @

Soctal Studies @ %

How many students like Mathematics?

° Watch Video Solution

24. A survey was carried out in a certain school to find out the
popular school subjects among students of Classes VI to VIII. The

data in this regard is displayed as pictograph given below:


https://dl.doubtnut.com/l/_fqCMTQrgGPLh
https://dl.doubtnut.com/l/_k0ePCBXBm2O3

Subject Number of Students @ = 50 students
Hinclt @ @ @ @
Iinglish @ @ @

Mathematios @ @ @ %
Selence @ @

Social Studies @ %

Find the number of students who like subjects other than

Mathematics and Science.

o Watch Video Solution

25. The following pictograph depicts the information about the
areas in sq km (to nearest hundred) of some districts of

Chhattisgarh State:


https://dl.doubtnut.com/l/_k0ePCBXBm2O3
https://dl.doubtnut.com/l/_5acJ4NyxwRus

District Area (in km?) ® = 1 00O0sgkm

Ralgarh ®®®®®® (AN
Rajnandgaon ®®®®®®®
Korta NINININININ]
Mahasamund @' @ @ ® @
Kabirdham [ QO S

Jashpur SINSINININ IS

What is the area of Koria district?

o Watch Video Solution

26. The following pictograph depicts the information about the
areas in sq km (to nearest hundred) of some districts of

Chhattisgarh State:


https://dl.doubtnut.com/l/_5acJ4NyxwRus
https://dl.doubtnut.com/l/_D9judu1knfYf

District Area (in km?¥) ® = 1000sgkm

Raigarh NINININISTIN N
Ramandgaon [ QOO S
Korta @@@ ®®®
Maasamund | QO OO O
Kablrdham @ @ ® ®

sshpr - | OO0 OO

Which two districts have the same area?

o Watch Video Solution

27. The following pictograph depicts the information about the
areas in sq km (to nearest hundred) of some districts of

Chhattisgarh State:


https://dl.doubtnut.com/l/_D9judu1knfYf
https://dl.doubtnut.com/l/_LUaOJk05IdmI

District Area (in km?) & = 1000sqkm

M NN NINISIS IS
Ranandgeon [ OO OO
Korta @@@ @@@
Mahasamund | () QO O
Kabirdham @ @ ® @

sspr - | QOOOOO

How many districts have area more than 5000 square kilometres?

o Watch Video Solution

28. The number of bottles of cold drinks sold by a shopkeeper on

six consecutive days is as follows:

Day Sunday |[Monday | Tuesday |Wednesday | Thursday | Friday
Number of | 350 200 S00 250 L{H) 150
bottles

Prepare a pictograph of the above data using an appropriate

symbol

° Watch Video Solution



https://dl.doubtnut.com/l/_LUaOJk05IdmI
https://dl.doubtnut.com/l/_4GySjLumaLT6

29. The following table gives information about the circulation of

newspapers (dailies) in a town in five languages.

Language Fnghsh | Hinddi Tamil Punjabl | Gujaratl

Number of SO00 BEO0D S 2500 1000

Newspapers

Prepare a pictograph of the above data, using a symbol of your

choice, each representing 1000 newspapers.

o Watch Video Solution

30. Annual expenditure of a company in the year 2007-2008 is

given below:


https://dl.doubtnut.com/l/_FNKMmDZEStSP
https://dl.doubtnut.com/l/_TGQ6MeX5tzfK

Items Expenditure
(Rs in lakh)
Salaries of cmplovees (H3)
Addvertisement [0}
Purchase of machinery Hh
Electricity and water 15
Transportation 25
Other expenses 30

Prepare a pictograph of the above data using an appropriate

symbol to represent Rs 10 lakh.

o Watch Video Solution

31. The following bar graph shows the number of houses (out of
100) in a town using different types of fuels for cooking.

Read the bar graph and answer the following questions:


https://dl.doubtnut.com/l/_TGQ6MeX5tzfK
https://dl.doubtnut.com/l/_09LoN75ZtmyW

Scale: | unit length = 5 houses

clrcly

SNumber of Deuses (out of 1y

w -

(=N =S —~]

' =
-

[ SR (17—

LPiy

Which fuel is used in maximum number of houses?

o Watch Video Solution

32.The following bar graph shows the number of houses (out of
100) in a town using different types of fuels for cooking.

Read the bar graph and answer the following questions:


https://dl.doubtnut.com/l/_09LoN75ZtmyW
https://dl.doubtnut.com/l/_kZJWWv8NUwTE
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How many houses are using coal as fuel?

o Watch Video Solution

33. The following bar graph shows the number of houses (out of
100) in a town using different types of fuels for cooking.

Read the bar graph and answer the following questions:


https://dl.doubtnut.com/l/_kZJWWv8NUwTE
https://dl.doubtnut.com/l/_hFTnd8bL2R1V

Scale: | unit length = 5 houses
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Suppose that the total number of houses in the town is 1 lakh.
From the above graph estimate the number of houses using

electricity.

o Watch Video Solution

34. The following bar graph represents the data for different
sizes of shoes worn by the students in a school. Read the graph
and answer the following questions.

(a) Find the number of students whose shoe sizes have been

collected.


https://dl.doubtnut.com/l/_hFTnd8bL2R1V
https://dl.doubtnut.com/l/_3HEM8pD7rz0x

o Watch Video Solution

35. The following bar graph represents the data for different
sizes of shoes worn by the students in a school. Read the graph

and answer the following questions.

Scale : 1 unit length = 50 students
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What is the number of students wearing shoe size 67

o Watch Video Solution



https://dl.doubtnut.com/l/_3HEM8pD7rz0x
https://dl.doubtnut.com/l/_IVQzJIOwn3bj

36. The following bar graph represents the data for different
sizes of shoes worn by the students in a school. Read the graph

and answer the following questions.

Scale : 1 unit length = 50 students

400} -
151 +

K} =
2340 r
2{M}
| S
|}
St

Mumber of students

4 5 B 7 ]
SN 81/ —

What are the different sizes of the shoes worn by the students?

o Watch Video Solution



https://dl.doubtnut.com/l/_t0cvfuRIEfBK

37. The following bar graph represents the data for different
sizes of shoes worn by the students in a school. Read the graph

and answer the following questions.

Scale : 1 unit length = 50 students
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Which shoe size is worn by the maximum number of students?

o Watch Video Solution



https://dl.doubtnut.com/l/_WBaOED8DVEqF

38. The following bar graph represents the data for different
sizes of shoes worn by the students in a school. Read the graph

and answer the following questions.

Scale : 1 unmit length = 50 students

JUH}
150
W}
250
T}
| 54k
N}
S0

Mummber of studernts

4 5 (3] () 1
BHH 81—

Which shoe size is worn by minimum number of students?

o Watch Video Solution



https://dl.doubtnut.com/l/_QLAhqkeWeF9u

39. The following bar graph represents the data for different
sizes of shoes worn by the students in a school. Read the graph

and answer the following questions.

Scale © 1 unit length = 50 students
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State whether true or false:
The total number of students wearing shoe sizes 5 and 8 is the

same as the number of students wearing shoe size 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_b3pHKoO2FblW

40.The following graph gives the information about the number
of railway tickets sold for different cities on a railway ticket
counter between 6.00 am to 10.00 am. Read the bar graph and
answer the following questions.

Scale : 1 unit length = 10 Gcketls
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How many tickets were sold in all?

o Watch Video Solution



https://dl.doubtnut.com/l/_RfinbIS5LtN9

41.The following graph gives the information about the number
of railway tickets sold for different cities on a railway ticket
counter between 6.00 am to 10.00 am. Read the bar graph and
answer the following questions.

Scale o 1 unit length = 10 Uckels

1)
]
18}

fl)
A0
41
Al

[

Mumaber of hokers sodd

Palna
Jaypur
LT

{ henmai

L ahat

s —

For which city were the maximum number of tickets sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_RfinbIS5LtN9
https://dl.doubtnut.com/l/_ltm48PNqjk2n

42.The following graph gives the information about the number
of railway tickets sold for different cities on a railway ticket
counter between 6.00 am to 10.00 am. Read the bar graph and
answer the following questions.

Scale ;1 unit length = 10 Uckels
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For which city were the minimum number of tickets sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_ltm48PNqjk2n
https://dl.doubtnut.com/l/_HdbP9Iczrwca

43.The following graph gives the information about the number
of railway tickets sold for different cities on a railway ticket
counter between 6.00 am to 10.00 am. Read the bar graph and

answer the following questions.
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Name the cities for which the number of tickets sold is more

than 20.



https://dl.doubtnut.com/l/_HdbP9Iczrwca
https://dl.doubtnut.com/l/_Snx4SdK01I7u

o Watch Video Solution

44.The following graph gives the information about the number
of railway tickets sold for different cities on a railway ticket
counter between 6.00 am to 10.00 am. Read the bar graph and

answer the following questions.
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Fill in the blanks:


https://dl.doubtnut.com/l/_Snx4SdK01I7u
https://dl.doubtnut.com/l/_LjXcJ0bxlsIA

Number of tickets sold for Delhi and Jaipur together exceeds the

total number of tickets sold for Patna and Chennai by

o Watch Video Solution

45.The bar graph given below represents approximate length (in
kilometres) of some National Highways in India. Study the bar
graph and answer the following questions:

MoHOID I
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Which National Highway (N.H.) is the longest among the above?

o Watch Video Solution



https://dl.doubtnut.com/l/_LjXcJ0bxlsIA
https://dl.doubtnut.com/l/_SfvdLS2wJcW9

46.The bar graph given below represents approximate length (in
kilometres) of some National Highways in India. Study the bar

graph and answer the following questions:

NHOID I
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Which National Highway is the shortest among the above?

o Watch Video Solution

47.The bar graph given below represents approximate length (in

kilometres) of some National Highways in India. Study the bar


https://dl.doubtnut.com/l/_SfvdLS2wJcW9
https://dl.doubtnut.com/l/_353EipyiNzhU
https://dl.doubtnut.com/l/_MbcJN6DQ8Qfl

graph and answer the following questions:
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What is the length of National Highway 97

o Watch Video Solution

48.The bar graph given below represents approximate length (in
kilometres) of some National Highways in India. Study the bar

graph and answer the following questions:


https://dl.doubtnut.com/l/_MbcJN6DQ8Qfl
https://dl.doubtnut.com/l/_xftdmmRyEFSR
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Length of which National Highway is about three times the

National Highway10?

A.NH 2

B.NH 3

C.NH38

D.NH9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xftdmmRyEFSR

49. The bar graph given below represents the circulation of
newspapers in different languages in a town. Study the bar

graph and answer the following questions:
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What is the circulation of English newspaper?

o Watch Video Solution

50. The bar graph given below represents the circulation of

newspapers in different languages in a town. Study the bar


https://dl.doubtnut.com/l/_xftdmmRyEFSR
https://dl.doubtnut.com/l/_Gj1fedqa1sm4
https://dl.doubtnut.com/l/_5L8JSnWM01KK

graph and answer the following questions:
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Name the two languages in which circulation of newspaper is the

same.

o Watch Video Solution

51. The bar graph given below represents the circulation of
newspapers in different languages in a town. Study the bar

graph and answer the following questions:


https://dl.doubtnut.com/l/_5L8JSnWM01KK
https://dl.doubtnut.com/l/_rpq9f37hHJoF
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By how much is the circulation of newspaper in Hindi more than

the newspaper in Bengali?

° Watch Video Solution

52. Read the bar graph given below and answer the following

questions:


https://dl.doubtnut.com/l/_rpq9f37hHJoF
https://dl.doubtnut.com/l/_ePUc0asSoDJK
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What information is given by the par graph?

o Watch Video Solution

53. Read the bar graph given below and answer the following

questions:


https://dl.doubtnut.com/l/_ePUc0asSoDJK
https://dl.doubtnut.com/l/_SEeC2KVg4nSZ
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In which year is the number of students maximum?

o Watch Video Solution

54. Read the bar graph given below and answer the following

questions:


https://dl.doubtnut.com/l/_SEeC2KVg4nSZ
https://dl.doubtnut.com/l/_FGJjCsku1b4g
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In which year is the number of students twice as that of 2001-02?

o Watch Video Solution

55. Read the bar graph given below and answer the following

questions:


https://dl.doubtnut.com/l/_FGJjCsku1b4g
https://dl.doubtnut.com/l/_2E6R0W24wtmW
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In which year did the number of students decrease as compared
to previous year?

A.2002-03

B. 2001-02

C.2003-04

D. 2004-05


https://dl.doubtnut.com/l/_2E6R0W24wtmW

Answer: C

o Watch Video Solution

56. Read the bar graph given below and answer the following

questions:
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In which year is the increase in number of students maximum as

compared to the previous year?

| o Wabkll. \tdaa .. aa


https://dl.doubtnut.com/l/_2E6R0W24wtmW
https://dl.doubtnut.com/l/_1OVNZdRdUg6C
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57. The lengths in km (rounded to nearest hundred) of some

major rivers of India is given below:

River

Length (in km)

Mearrmnianla
Mahianeaddi
Brahmputra
Changa

Kaaverd

Krishn:a

[
LH)
2000
AN
S
BEIY

Draw a bar graph to represent the above information.

o Watch Video Solution

58. The number of ATMs of different banks in a city is shown

below:



https://dl.doubtnut.com/l/_1OVNZdRdUg6C
https://dl.doubtnut.com/l/_PQF9WGF7shq9
https://dl.doubtnut.com/l/_D0GUfHxSxzGm

Bank Number of ATMs
Syndlcate Bank 5
Dena Bank 15
Indian Bank 20
Statle Bank of Irudia 25
Vijaya Bank 10

Draw a bar graph to represent the above information by

choosing the scale of your choice.

o Watch Video Solution

59. Number of mobile phone users in various age groups in a city

is listed below:

Age group (in years) Number of mobile users

1 —20 A0
A4l ACHM
4150 AR

Bl KO TOHH D

Draw a bar graph to represent the above information.

la .


https://dl.doubtnut.com/l/_D0GUfHxSxzGm
https://dl.doubtnut.com/l/_cbscXhVNQDZt

- yvatch video >olution )

60. The following table represents income of a Gram Panchayat

from different sources in a particular year:

Sources Income (in Rs.)
Income from local Taxes )
Irunds received rom government 1 50000
Dozt ions A
Income from other resources SOOI

Draw a bar graph to represent the above information

o Watch Video Solution

61. The following table gives the data of number of schools

(stage-wise) of a country in the year 2002.


https://dl.doubtnut.com/l/_cbscXhVNQDZt
https://dl.doubtnut.com/l/_N73VFr7BgJL7
https://dl.doubtnut.com/l/_5yZLn6kdfz5a

Stage Number of schools (in thousands)
Primary talll
Lipper Primary 515}
Secondary A0
Higher Secondary 2

Draw a bar graph to represent the above data:

o Watch Video Solution

62. Home appliances sold by a shop in one month are given as

below:
Home appliance Number of home appliances
Helrigerador ThH
Telewlslon 45
Washing Machilne N1l
Cooler i)
VD Mayer o

Draw a bar graph to represent the above information.

o Watch Video Solution



https://dl.doubtnut.com/l/_5yZLn6kdfz5a
https://dl.doubtnut.com/l/_NsFPFUqKZ0cI

63.In a botanical garden, the number of different types of plants

are found as follows:

Type of the plant Number of plants

[ Ta=rls i)

=hirah il
Clreepeer 20
Clmber 45
Tree L)t

Draw a bar graph to represent the above information and answer
the following question:

Which type of plant is maximum in number in the garden?

o Watch Video Solution

64. In a botanical garden, the number of different types of plants

are found as follows:


https://dl.doubtnut.com/l/_CsVr7P9KFaqm
https://dl.doubtnut.com/l/_6T6GeYKLLw5r

Type of the plant Number of plants

[ Te=rls i)

=hrnb £l
Creeper 20
Clmber 45

Tree L1

Draw a bar graph to represent the above information and answer

the following question:

Which type of plant is minimum in number in the garden?

o Watch Video Solution

65. Prepare a bar graph of the data given in question 28.

° Watch Video Solution



https://dl.doubtnut.com/l/_6T6GeYKLLw5r
https://dl.doubtnut.com/l/_ejCO7TXRC1Ky

66. The following table shows the area of the land on which

different crops were grown.

Crop Area of land (in million hectares)
[diee [
Wheat a0
PMalses 20
Sgarcale a5
Cotlon 15

Prepare a pictograph by choosing a suitable symbol to represent

10 million hectares.

° Watch Video Solution



https://dl.doubtnut.com/l/_oPZKuuSJqvab

